El-(nnussn]

ACTORRADCEPACKSYITERE ™ BE BaE

Koffer-Trager/side carrier

K"ING-SYSTEM

Pos. Stiick Bestellnr. Bezeichnung
quant item no.

703.209 Abdecklasche links
703.210 Abdecklasche rechts

1 1 703.005 Kofferhalter links
2 1 703.006 Kofferhalter rechts
3 2 150.533 Tragerteil K-Wing
4 1 703.206 Versteifungsbigel
5 1 703.207 Blinkerhalter links
6 1 703.208 Blinkerhalter rechts
7 2 150.748 Flanschkopfschrauben M 8 x 40
8 6  150.747 Flanschkopfschrauben M 8 x 35
9 2 150.744 Flanschkopfschrauben M 8 x 20
10 10 150.803 Tensilockmuttern M 8
11 2 150.810 U-Scheiben & 8,4
12 4 150.811 U-Scheiben & 10,5
13 1 703.204 Haltewinkel links
14 1 703.205 Haltewinkel rechts
15 2 330.300 Schriftzug ,KRAUSER*
16 2 150.801 selbstsichernde Muttern M 10
17 2 - Original-Schraube
18 4 270.103 Oval-Plastikstopfen 30 x 15
19 4 270.102 Plastikstopfen & 16 mm
20 2 150.800 selbstsichernde Muttern M 8
21 2 150.865 Inbusschrauben M 10 x 30
22 2 - Original-Plastikscheibe
23 2 150.749 Flanschkopfschrauben M 8 x 45
1
1

Demontacte: =5 & e A - A
Zn Mortage von Tail @ ¥

(Fos. 13, 14,

=  Montage von Teil @ + @ +

(Pos. 4,5, 5, 12, 18, 21, 22)
Montags von Teil @ + @
(Pos. 1,2, 8,70, 1,18, 20, 23, 24, 25)

—  Montags von Teil @
(Pos. 7, 8,10, 15, 19)

> P 2D

Grif? 3 mm abfailsn
Fla = ta hantle 3 mr

SUZUKI GSF 600 Bandit bis 1999

4003.001.101

description

side carrier left
side-carrier right
carrier part K-Wing
bracing bow

winker left

winker right

flange screw

flange screw

flange screw

tensiloc nut

washer

washer

mounting bracket left
mounting bracket right
emblem ,KRAUSER®
self locking nuts M 10
original screw

oval plastic plug
plastic plug

self locking nuts M 8
allen screw

original plastic washer
flange screw

cover shackle left
cover shackle right



TKRAUSER] K'ING-SYSTEM
ADTOREADCEPACKSYSTERAE & RIE RAGS

Koffer-Trager/side carrier

SUZUKI GSF 600 Bandit
4003.001.101




